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1. The value of  128 islog4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iuadfYGgGGFq


A. 

B. 4

C. 

D. 

Answer: C

Watch Video Solution

5

3

7
2

9

2

2.  is equal to

A. 2

loga b × logb c × logc d × logd a

https://dl.doubtnut.com/l/_iuadfYGgGGFq
https://dl.doubtnut.com/l/_6L1x6BQls5tX


B. 3

C. 1

D. 4

Answer: C

Watch Video Solution

3. The value of  is equal to

A. 

B. 

log(1 + 2 + 3)

log 2 + log 3

log 1 + log 2 + log 3

https://dl.doubtnut.com/l/_6L1x6BQls5tX
https://dl.doubtnut.com/l/_8jGXrKz0AzuO


C. 

D. 0

Answer: B

Watch Video Solution

log 1 log 2 log 3

4. IF ,

then the value of  is

A. 2yz

B. 2zx

x = log2a a, y = log3a 2a, z = log4a 3a

xyz + 1

https://dl.doubtnut.com/l/_8jGXrKz0AzuO
https://dl.doubtnut.com/l/_9TJrM8n7Z3VQ


C. xyz

D. 1

Answer: A

Watch Video Solution

5. If ,

then the value of  is

equal to

A. 0

loga bc = x, logb ca = y and logc ab = z

+ +
1

x + 1

1

y + 1

1

z + 1

https://dl.doubtnut.com/l/_9TJrM8n7Z3VQ
https://dl.doubtnut.com/l/_NbOqDrOyVOdJ


B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

6. The value of

 is

equal to

x ( log y− log z ) × y ( log z − logx ) × z ( logx− log y )

https://dl.doubtnut.com/l/_NbOqDrOyVOdJ
https://dl.doubtnut.com/l/_QHikdSUYZB8i


A. 1

B. 3

C. 0

D. 5

Answer: A

Watch Video Solution

7. If , then the vlaue of 

 is

a2 + b2 = 7ab

log[ (a + b)]
1

3

https://dl.doubtnut.com/l/_QHikdSUYZB8i
https://dl.doubtnut.com/l/_AP1sUEYvdzze


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

loga log b
1

2

logab
1

2

[loga + log b]
1

2

[loga − log b]
1

2

8. If a, b and c are in GP, then

 will beloga x, logb x and logc x

https://dl.doubtnut.com/l/_AP1sUEYvdzze
https://dl.doubtnut.com/l/_i0DgCMPOaCXE


A. AP

B. HP

C. GP

D. None of these

Answer: B

Watch Video Solution

9. If  , then the

value of x is

logx(8x − 3) − logx 4 = 2

https://dl.doubtnut.com/l/_i0DgCMPOaCXE
https://dl.doubtnut.com/l/_yjf9TNvNk1oA


A. 

B. 

C. 0

D. 3

Answer: A

Watch Video Solution

3

2

5

2

10. If 

then the value of N is

2 log8 N = p, log2 N = q and q − p = 4

https://dl.doubtnut.com/l/_yjf9TNvNk1oA
https://dl.doubtnut.com/l/_i5v7Fpo0GJ6z
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A. 4096

B. 256

C. 512

D. 32

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_i5v7Fpo0GJ6z


1.  is equal to

A. 

B. 

C. 

D. 2

Answer: A

Watch Video Solution

log5√5 5

2/3

1/3

1/2

https://dl.doubtnut.com/l/_gaZkFCqZcRjk


2. The value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

log6(216√6)

3/2

5/2

7/2

9/2

https://dl.doubtnut.com/l/_nyZ6o2d5WOU9


3. the value of 

A. 81

B. 

C. 20

D. 

Answer: A

Watch Video Solution

(0.05)log√20 ( 0.1 + 0.01 + 0.001 + ... . )

1/81

1/20

https://dl.doubtnut.com/l/_qCKkuqV9RxB2


4. IF ,

then 1 + abc is equal to

A. 2 ac

B. 2 bc

C. 2 ab

D. none of these

Answer: B

Watch Video Solution

a = log24 12, b = log36 24, c = log48 36

https://dl.doubtnut.com/l/_N2xirjcLNRx4
https://dl.doubtnut.com/l/_eWT9aeJqOt3i


5. Find the value of

A. 49

B. 625

C. 216

D. 890

Answer: D

Watch Video Solution

81(1 / ( log ) 53 ) + 27log 36 + 3
( 9)4

( log )7

https://dl.doubtnut.com/l/_eWT9aeJqOt3i


6.  is equal to

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

−
log8 17

log9 23

log2√2 17

log3 23

17
8

23

17

https://dl.doubtnut.com/l/_yEFZ8cOAfRgF


7. If  then m is equal

to

A. 24

B. 18

C. 12

D. 4

Answer: A

Watch Video Solution

log8 m + = ,
log6(1)

6

2

3

https://dl.doubtnut.com/l/_jPAYJRkRPjVw
https://dl.doubtnut.com/l/_hpz6Az8Vg6sT


8. If , then x is equal

to

A. 4

B. 

C. 

D. 2

Answer: A

Watch Video Solution

log2 x × log2 + 4 = 0
x

16

−4

1/4

https://dl.doubtnut.com/l/_hpz6Az8Vg6sT


9. If  are in AP, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

logx, logy and log z

y2 = xz

x2 = yz

z2 = xy

y = xz

https://dl.doubtnut.com/l/_BRnrqyvH7V5U


10. The value of  is

A. greater than 2

B. less than 2

C. equal to 

D. equal to 0

Answer: A

Watch Video Solution

+
1

log3 π

1

log4 π

1

2

https://dl.doubtnut.com/l/_B8NroyXydazO


11. If  then  is equal to

A. x

B. 

C. 

D. 

Answer: A

Watch Video Solution

logam = x, log1 /a

1

m

−x

1

x

−1

x

https://dl.doubtnut.com/l/_5W3hUeyvwyAC


12. If  then  is

equal to

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

f(a) = log
1 + a

1 − a
f( )

2a

1 + a2

f(a)

2f(a)

https://dl.doubtnut.com/l/_IVQpQpX5rsVx
https://dl.doubtnut.com/l/_bjNOs7IIGJyL


13. The value of

 is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

7 loga + 5 loga + 3 loga
16

15

25

24

81

80

loga 5

loga 3

loga 2

https://dl.doubtnut.com/l/_bjNOs7IIGJyL


14. 

is equal to

A. 0

B. 3

C. 2

D. 1

Answer: D

Watch Video Solution

+ +
1

(loga bc) + 1

1

(logb ac) + 1

1

(logc ab) + 1

https://dl.doubtnut.com/l/_EnazJKamK9TS


15. If , then a

is equal to

A. 0

B. 

C. b

D. None of these

Answer: C

Watch Video Solution

log( ) = (loga + log b)
a + b

2

1

2

−b

https://dl.doubtnut.com/l/_d1v2HJmXLnc5
https://dl.doubtnut.com/l/_aVLF2ogEsZd7


16.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1 + lognm) ⋅ logmn x

logn x

logm x

lognm

logx n

https://dl.doubtnut.com/l/_aVLF2ogEsZd7


17.  then a, b and c are

such that

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

loga b = logb c = logc a,

a = b = c

a = b ≠ c

a = c ≠ b

b = c ≠ a

https://dl.doubtnut.com/l/_9Rr6ygGxrmUq
https://dl.doubtnut.com/l/_kO6sswUDMUSF


18. If 

then the value of k is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

log(3 + 4 + k) = log 3 + log 4 + logk,

11

7

7
11

7 × 11

https://dl.doubtnut.com/l/_kO6sswUDMUSF


19. If

then find the number of digits in 

A. 6

B. 5

C. 8

D. 9

Answer: D

Watch Video Solution

(log)102 = 0. 30103, (log)103 = 0. 47712,

312x28.

https://dl.doubtnut.com/l/_7Ik3JOExkQxH


20.  is equal to

A. 

B. 1

C. 

D. 

Answer: C

Watch Video Solution

log(x3 + 3x2 + 3x + 1)

log(x2 + 2x + 1)

1

2

3

2

2

3

https://dl.doubtnut.com/l/_x9X7TTg3jzDK

